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a = 4 '(x)

y = () is the differentiable function whose graph is shown in the figure.
The position at time t (seconds) of the particle moving along a coordinate

axis is = [ f(1)dr
a) What is the particle's velocity at time t=3? vy (3)':-0

b) Is the acceleration of the particle at time t = 3 positive or negative?

a(3)>0

¢) What is the particle's position at time t = 3?
3
OF g £(t)4E = - gl
o

d) When does the particle pass through the origin?

0

¢) Approximately when is the acceleration 0?

£=7 (E-l-o(i?:oﬂ,l‘ai "'oﬂ'jt'\i’ ‘} ‘F)
f) When is the particle moving toward the origin?
(3,6)

g) When is the particle moving away from the origin?
(013) Y ( b lq'z's

h) On which side of the origin does the particle lie at time t = 9?
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Chapter 5: The Definite Integral 5.1/5.5: Riemann Sums
What you'll Learn About

+  Howtofind the area under the curve using rectangles and trapezoids
*  WhatRight Riemann Sums, Left Riemann Sums, Midpoint Riemann Sums and
Travezoidal Sums are
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sub-miervals o approximate tne arca under the curve
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Hae dop cignt @0 A= (2-0)(60) + (5-2XsD * (4-5) () + (10-9)(u3)
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wﬂﬂ;m sub-intervals to approximate the area under the curve
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5 Use the data below to approximate the area under the curve using Right
Riemann Sums and Left Riemann Sums with 5 sub-intervals.
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Raht = [8-0)(5)* (20-8)(a0)* (25-20)-g) + [22-25)(-4) + (40'3‘1)
% —

Legt =(8-6)(D+ (20-8) () + (25-20) )+ { 1):35)/( -3)+ [&am[q)
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